
෍

𝑖

(𝑁𝛼+ + 𝑁𝛼−)(𝜖𝑗𝑖 +𝑒𝑒
𝑏𝑎𝑐 𝐷𝑇 𝛼 + 𝜖𝑗𝑖 −𝑒𝑒

𝑏𝑎𝑐 𝐷𝑇 𝛼)

2(𝜖𝛼+ + 𝜖𝛼−)
ℬ𝑠 𝑖 = 𝑁𝑗 𝐷𝑠𝑟𝑒𝑐𝑒𝑒

𝐷𝑇 𝛼

෍

𝑖

(𝑁𝛼+ +𝑁𝛼−)(𝜖𝑗𝑖 +𝑒𝑒
𝑑𝑎𝑢 𝐷𝑇 𝛼 + 𝜖𝑗𝑖 −𝑒𝑒

𝑑𝑎𝑢 𝐷𝑇 𝛼)

2(𝜖𝛼+ + 𝜖𝛼−)
ℬ𝑠 𝑖 = 𝑁

𝑗 𝐷𝑠
𝑡𝑎𝑔

𝑒𝑒

𝐷𝑇 𝛼

Result



𝑁0: 𝐷𝑠
+𝐷𝑠

−∗

𝑁0: 𝐷𝑠
−𝐷𝑠

+∗ Γ =
ℬ𝑠
𝜏𝐷𝑠∗

෍

𝑖

(𝑁𝛼+ + 𝑁𝛼−)(𝜖𝑗𝑖 +𝑒𝑒
𝑏𝑎𝑐 𝐷𝑇 𝛼 + 𝜖𝑗𝑖 −𝑒𝑒

𝑏𝑎𝑐 𝐷𝑇 𝛼)

2(𝜖𝛼+ + 𝜖𝛼−)
ℬ𝑠 = 𝑁𝑗 𝐷𝑠𝑟𝑒𝑐𝑒𝑒

𝐷𝑇 𝛼

෍

𝑖

(𝑁𝛼+ + 𝑁𝛼−)(𝜖𝑗𝑖 +𝑒𝑒
𝑑𝑎𝑢 𝐷𝑇 𝛼 + 𝜖𝑗𝑖 −𝑒𝑒

𝑑𝑎𝑢 𝐷𝑇 𝛼)

2(𝜖𝛼+ + 𝜖𝛼−)
ℬ𝑠 = 𝑁

𝑗 𝐷𝑠
𝑡𝑎𝑔

𝑒𝑒

𝐷𝑇 𝛼

Get 𝓑𝒔 𝒊

Γ𝑖 =
ℬ𝑠 𝑖
𝜏𝐷𝑠∗





Bin1: (0.0000,0.0055)



Bin1: (0.0000,0.0055)



Bin2: (0.0055,0.0100)



Bin2: (0.0055,0.0100)



Bin3: (0.0100,0.0210)



Bin3: (0.0100,0.0210)



Bin4: (0.0210,0.1300)



Bin4: (0.0210,0.1300)



Problem













CP even CP odd CP Mix Flavoured

𝐾+𝐾− 𝐾𝑆𝜋
0 𝐾𝑆𝜋

+𝜋−(Bin) 𝐾+𝑒− ҧ𝜈𝑒

𝜋+𝜋− 𝐾𝑠𝜂(𝛾𝛾) 𝐾𝐿𝜋
+𝜋−(Bin) 𝐾+𝜋−

𝜋0𝜋0 𝐾𝑠𝜂(𝜋
+𝜋−𝜋0) 𝐾+𝐾−𝜋0 𝐾+𝜋−𝜋0

𝐾𝑆𝜋
0𝜋0 𝐾𝑠𝜂′(𝜋

+𝜋−𝛾) (𝜋+𝜋−𝜋+𝜋−) 𝐾+𝜋−𝜋+𝜋−

𝐾𝐿𝜔 𝐾𝑠𝜂′(𝜋
+𝜋−𝜂) (𝐾𝑆𝜋

+𝜋−𝜋0)

𝜋+𝜋−𝜋0(0.97) 𝐾𝑠𝜔

𝐾𝐿𝜋
0 𝐾𝐿𝜋

0𝜋0


